## SERVICE AGREEMENT BETWEEN MARGOLIS COMPANIES, INC. AND CITY OF ANN ARBOR

The City of Ann Arbor, a Michigan municipal corporation, having its offices at 301 E. Huron Street, Ann Arbor, Michigan 48104 ("CITY") and, Margolis Companies, a Michigan Corporation, having its offices at 9600 Cherry Hill, Ypsilanti, MI 48198 ("CONTRACTOR"), agree as follows:

The Contractor agrees to provide services to the City under the following terms and conditions:

#### I. DEFINITIONS

Administering Service Area/Unit means the Public Services Area, Systems Planning Unit.

Contract Administrator means Kerry Gray, Systems Planning Unit, acting personally or through any assistants authorized by the Administrator/Manager of the Administering Service Area/Unit

Project means "The City of Ann Arbor Fall 2012 & Spring 2013 Street Tree Purchase and Planting Project"

## II. <u>DURATION</u>

This agreement shall become effective on July 16, 2012, and shall remain in effect until satisfactory performance of all services, unless terminated for breach or as provided in this agreement.

## III. <u>SERVICES</u>

A. <u>General Scope</u>: The Contractor agrees to furnish all of the materials, equipment and labor necessary; and to abide by all the duties and responsibilities applicable to it for the Project in accordance with the requirements and provisions of the following documents, including all written modifications incorporated into any of the documents, which are incorporated as part of this Contract:

Contract and Exhibits
Bid No. 4223 and Addenda 1, 2 & 3
Bid Proposal of Contractor, dated May 11, 2012 and restated and attached as Exhibit C.

The contract documents are complementary and what is called for by any one shall be binding. The intention of the documents is to include all labor and materials, equipment and transportation necessary for the proper execution of the Project. Materials or work described in words that so applied have a well-known technical or trade meaning have

the meaning of those recognized standards.

In case of a conflict among the contract documents listed above in any requirement(s), the requirement(s) of the document listed first shall prevail over any conflicting requirement(s) of a document listed later.

- B. <u>Quality of Services</u>: The Contractor's standard of service under this agreement shall be of the level of quality performed by businesses regularly rendering this type of service. Determination of acceptable quality shall be made solely by the Contract Administrator.
- C. <u>Compliance with Applicable Law</u>: The Contractor shall perform its services under this agreement in compliance with all applicable laws, ordinances and regulations.
- D. <u>Location</u>: The Contractor shall provide all of these services at locations selected by the Urban Forest & Natural Resource Planning Coordinator and/or Field Operations Forestry Supervisor within the City of Ann Arbor, Michigan.

#### IV. RELATIONSHIP OF PARTIES

- A. The parties to this agreement agree that it is not a contract of employment but is a contract to accomplish a specific result. Contractor is an independent contractor performing services for the City. Nothing contained in this agreement shall be deemed to constitute any other relationship between the City and the Contractor.
- B. The Contractor certifies that it has no personal or financial interest in the project other than the fee it is to receive under this agreement. The Contractor further certifies that it shall not acquire any such interest, direct or indirect, which would conflict in any manner with the performance of services under this agreement. Further Contractor agrees and certifies that it does not and will not employ or engage any person with a personal or financial interest in this agreement.
- C. Contractor does not have any authority to execute any contract or agreement on behalf of the City, and is not granted any authority to assume or create any obligation or liability on the City's behalf, or to bind the City in any way.
- D. Contractor certifies that it is not, and shall not become, overdue or in default to the City for any contract, debt, or any other obligation to the City including real or personal property taxes. City shall have the right to set off any such debt against compensation awarded for services under this agreement.

#### V. COMPENSATION OF CONTRACTOR

A. The Contractor shall be paid on the basis of the bid price. The total fee to be paid the Contractor for the services shall not exceed \$295,925.00. The Contractor shall submit each month, or at longer intervals, if it so desires, an invoice covering work

performed for which it believes payment, under the Contract terms, is due. The submission shall be to the City's Finance Department - Accounting Division. The Contract Administrator will, within 21 days following submission of the invoice, prepare a certificate for payment for the work in an amount to be determined by the Contractor Administrator as fairly representing the acceptable work performed during the period covered by the Contractor's invoice. Following the receipt of the Contract Administrator's Certificate, and subject to the City retaining a percentage of the estimate as provided in this paragraph, the City will make payment to the Contractor as soon as feasible, which is anticipated will be within 15 days. To insure the proper performance of this Contract, the City will retain a percentage of the estimate in the same manner as is done for construction contracts under Act 524, Public Acts of 1980. If the City fails to retain a percentage from one or more of the estimates it pays, the City reserves the right to retain the amount from a subsequent payment.

- B. If the Contract Administrator decides it is inexpedient to correct work that has been damaged or that was not done in accordance with the Contract, an equitable deduction from the Contract price shall be made.
- C. The Contractor shall promptly remove from the premises all trees and materials determined by the Contract Administrator as failing to meet Contract requirements and the Contractor shall promptly replace and re-execute the work in accordance with the Contract and without expense to the City.
- D. The inspection or lack of inspection of any material or work pertaining to this Contract shall not relieve the Contractor of its obligation to fulfill this Contract and defective work shall be made good. Unsuitable trees and materials may be rejected by the Contract Administrator notwithstanding that the work, trees and/or materials have been previously overlooked by the Contract Administrator and accepted or estimated for payment or paid for. If the work or any part shall be found defective at any time before the final acceptance, the Contractor shall forthwith make good the defect in a manner satisfactory to the Contract Administrator. The judgment and the decision of the Contract Administrator as to whether the materials supplied and the work done under this Contract comply with the requirements of the Contract shall be conclusive and final.
- E. At the end of the guarantee period for each project (fall and spring) and within 14 days after receipt of written notice from the Contractor that the work is ready for final inspection and acceptance, the City shall inspect all guaranteed work for final acceptance. When the Contract Administrator finds the work acceptable under the Contract and the Contract fully performed, including completion and re-inspection of all repairs and replacements necessary in the judgment of the Contract Administrator, the Contract Administrator will promptly sign and issue a final certificate stating that the work required by this Contract has been completed and is accepted by the City under the terms and conditions of the Contract. Subject to the requirements below, the entire balance found to be due the Contractor, including the retained percentage shall be paid to the Contractor by the City within 30 days after the date of the final certificate.

Before issuance of final certificates, the Contractor shall file with the City:

- (1) The consent of the surety to payment of the final estimate;
- (2) The Contractor's Affidavit

In case the Affidavit or consent is not furnished, the City may retain out of any amount due the Contractor, sums sufficient to cover all lienable claims.

The making and acceptance of the final payment shall constitute a waiver of all claims by the City except those arising from:

- (1) unsettled liens;
- (2) faulty work appearing within 12 months after final payment;

The making and acceptance of the final payment shall also constitute a waiver of all claims by the Contractor, except those previously made and still unsettled.

#### VI. INSURANCE; INDEMNIFICATION

- A. The Contractor shall procure and maintain during the life of this Contract, including the guarantee period and during any warranty work, such insurance policies, including those set forth below, as will protect itself from all claims for bodily injuries, death or property damage which may arise under this Contract; whether the acts were made by the Contractor or by any subcontractor or anyone employed by them directly or indirectly. The following insurance policies are required:
  - 1. Worker's Compensation Insurance in accordance with all applicable state and federal statutes. Further, Employers Liability Coverage shall be obtained in the following minimum amounts:

```
Bodily Injury by Accident - $500,000 each accident
Bodily Injury by Disease - $500,000 each employee
Bodily Injury by Disease - $500,000 each policy limit
```

2. Commercial General Liability Insurance equivalent to, as a minimum, Insurance Services Office form CG 00 01 07 98. The City of Ann Arbor shall be an additional insured. There shall be no added exclusions or limiting endorsements including, but not limited to: Products and Completed Operations, Explosion, Collapse and Underground coverage or Pollution. Further, the following minimum limits of liability are required:

\$1,000,000 Each occurrence as respect Bodily Injury Liability or Property Damage Liability, or both combined.

\$2,000,000 Per Job General Aggregate

## \$1,000,000 Personal and Advertising Injury

- \$2,000,000 Products and Completed Operations Aggregate
- 3. Motor Vehicle Liability Insurance, including Michigan No-Fault Coverages, equivalent to, as a minimum, Insurance Services Office form CA 00 01 07 97. The City of Ann Arbor shall be an additional insured. There shall be no added exclusions or limiting endorsements. Coverage shall include all owned vehicles, all non-owned vehicles and all hired vehicles. Further, the limits of liability shall be \$1,000,000 for each occurrence as respects Bodily Injury Liability or Property Damage Liability, or both combined.
- 4. Umbrella/Excess Liability Insurance shall be provided to apply excess of the Commercial General Liability, Employers Liability and the Motor Vehicle coverage enumerated above, for each occurrence and for aggregate in the amount of \$1,000,000.
- B. Insurance required under VI.A.2 and A.3 of this Contract shall be considered primary as respects any other valid or collectible insurance that the City may possess, including any self-insured retentions the City may have; and any other insurance the City does possess shall be considered excess insurance only and shall not be required to contribute with this insurance. Further, the Contractor agrees to waive any right of recovery by its insurer against the City.
- C. In the case of all Contracts involving on-site work, the Contractor shall provide to the City before the commencement of any work under this Contract documentation demonstrating it has obtained the above mentioned policies. Documentation must provide and demonstrate an unconditional 30 day written notice of cancellation in favor of the City of Ann Arbor. Further, the documentation must explicitly state the following: (a) the policy number; name of insurance company; name and address of the agent or authorized representative; name and address of insured; project name; policy expiration date; and specific coverage amounts; (b) any deductibles or selfinsured retentions which shall be approved by the City, in its sole discretion; (c) that the policy conforms to the requirements specified. An original certificate of insurance may be provided as an initial indication of the required insurance, provided that no later than 21 calendar days after commencement of any work the Contractor supplies a copy of the endorsements required on the policies. Upon request, the Contractor shall provide within 30 days a copy of the policy(ies) to the City. If any of the above coverages expire by their terms during the term of this Contract, the Contractor shall deliver proof of renewal and/or new policies to the Administering Service Area/Unit at least ten days prior to the expiration date.
- D. Any insurance provider of Contractor shall be admitted and authorized to do business in the State of Michigan and shall carry and maintain a minimum rating assigned by A.M. Best & Company's Key Rating Guide of "A-" Overall and a minimum Financial Size Category of "V". Insurance policies and certificates issued by non-admitted insurance companies are not acceptable unless approved in writing by the City.

E. To the fullest extent permitted by law, for any loss not covered by insurance under this contract, Contractor shall indemnify, defend and hold harmless the City, its officers, employees and agents harmless from all suits, claims, judgments and expenses including attorney's fees resulting or alleged to result, in whole or in part, from any act or omission, which is in any way connected or associated with this contract, by the Contractor or anyone acting on the Contractor's behalf under this contract. Contractor shall not be responsible to indemnify the City for losses or damages caused by or resulting from the City's sole negligence.

## VII. COMPLIANCE REQUIREMENTS

- A. Nondiscrimination. The Consultant agrees to comply with the nondiscrimination provisions of Chapter 112 of the Ann Arbor City Code and to take affirmative action to assure that applicants are employed and that employees are treated during employment in a manner which provides equal employment opportunity and tends to eliminate any inequality based upon race, national origin or sex. The Consultant agrees to comply with the provisions of Section 9:161 of Chapter 112 of the Ann Arbor City Code, Exhibit A
- B. Wages: Under this Contract, the Contractor shall conform to Chapter 14 of Title I of the Code of the City of Ann Arbor as amended; which in part states "...that all craftsmen, mechanics and laborers employed directly on the site in connection with said improvements, including said employees of subcontractors, shall receive the prevailing wage for the corresponding classes of craftsmen, mechanics and laborers, as determined by statistics for the Ann Arbor area compiled by the United States Department of Labor. At the request of the City, any contractor or subcontractor shall provide satisfactory proof of compliance with the contract provisions required by the Section." Where the Contract and the Ann Arbor City Ordinance are silent as to definitions of terms required in determining contract compliance with regard to prevailing wages, the definitions provided in the Davis-Bacon Act as amended (40 U.S.C. 278-a to 276-a-7) for the terms shall be used.

Further, to the extent that any employees of the Contractor providing services under this contract are not part of the class of craftsmen, mechanics and laborers who receive a prevailing wage in conformance with Section 1:319 of Chapter 14 of Title I of the Code of the City of Ann Arbor, the Contractor agrees to conform to Chapter 23, Living Wage, of Title I of the Code of the City of Ann Arbor, as amended. The Contractor agrees to pay those employees providing Services to the City under this Agreement a "living wage," as defined in Section 1:815 of the Ann Arbor City Code; to post a notice approved by the City of the applicability of Chapter 23 in every location in which regular or contract employees providing services under this agreement are working; to maintain records of compliance; if requested by the City, to provide documentation to verify compliance; to take no action that would reduce the compensation, wages, fringe benefits, or leave available to any employee or person contracted for employment in order to pay the living wage required by Section 1:815; and otherwise to comply with the requirements of Chapter 23. A copy of

selected provisions of Chapter 23 of the Ann Arbor City Code is attached as Exhibit B. The current living wage rates under Section 1:815 of the Ann Arbor City Code, as adjusted in accordance with Section 1:815(3) of the Ann Arbor City Code, is \$11.83 an hour for a covered employer that provides employee health care to its employees and \$13.19 an hour for a covered employer that does not provide health care to its employees.

## VIII. WARRANTIES BY CONTRACTOR

- A. The Contractor warrants that the quality of its services under this agreement shall conform to the level of quality performed by professionals regularly rendering this type of service. The Contractor warrants that the repairs shall be free of defects for a period of one year.
- B. The Contractor warrants that it has all the skills and experience necessary to perform the services it is to provide pursuant to this agreement. The Contractor may rely upon the accuracy of reports and surveys provided to it by the City except when defects should have been apparent to a reasonably competent contractor or when it has actual notice of any defects in the reports and surveys.

#### IX. TERMINATION OF AGREEMENT; RIGHTS ON TERMINATION

- A. This agreement may be terminated by either party in the case of a breach of this agreement by the other party, if the breaching party has not corrected the breach within 15 days after notice of termination is given in conformance with the terms of this agreement.
- B. If contracting services are terminated for reasons other than the breach of the agreement by the Contractor, the Contractor shall be compensated for reasonable time spent and reasonable quantities of materials used prior to notification of termination.

#### X. OBLIGATIONS OF THE CITY

- A. The City agrees to give the Contractor access to staff and City owned properties as required to perform the necessary services under the agreement.
- B. The City shall notify the Contractor of any defects in the services of which the City has actual notice.

#### XI. <u>ASSIGNMENT</u>

A. The Contractor shall not subcontract or assign any portion of the services without prior written consent to such action by the City.

B. The Contractor shall retain the right to pledge payment(s) due and payable under the agreement to third parties.

#### XII. NOTICE

All notices and submissions required under the agreement shall be by personal delivery or by first-class mail, postage prepaid, to the address stated in this agreement or such other address as either party may designate by prior written notice to the other. Notice shall be considered delivered under this agreement when personally delivered to the Contract Administrator or placed in the U.S. mail, postage prepaid to the Administering Service Area/Unit, care of the Contract Administrator.

## XIII. EXTENT OF AGREEMENT

This agreement represents the entire understanding between the City and the Contractor and it supersedes all prior representations or agreements whether written or oral. Neither party has relied on any prior representations in entering into this agreement.

This agreement may be altered, amended or modified only by written amendment signed by the Contractor and the City.

## XIV. SEVERABILITY OF PROVISIONS

Whenever possible, each provision of this agreement will be interpreted in a manner as to be effective and valid under applicable law. However, if any provision of this agreement or the application of any provision to any party or circumstance will be prohibited by or invalid under applicable law, that provision will be ineffective to the extent of the prohibition or invalidity without invalidating the remainder of the provisions of this agreement or the application of the provision to other parties or other circumstances.

## XV. CHOICE OF LAW

This agreement shall be construed, governed, and enforced in accordance with the laws of the State of Michigan. By executing this agreement, the Contractor and the City agree to venue in a court of appropriate jurisdiction sitting within Washtenaw County for purposes of any action arising under this agreement.

For Contractor	For City of Ann Arbor					
Ву	By					
Authorized Representative	John Hieftje, Mayor					
	By					
	Jacqueline Beaudry, City Clerk					
	Approved as to substance					
	By Steven Powers, City Administrator					
	By Craig Hupy, Acting Public Services Area Administrator					
	Approved as to form and content					
	By					
	Stephen K. Postema, City Attorney					

# EXHIBIT A FAIR EMPLOYMENT PRACTICE

The contractor, its agents or sub-contractors, shall comply with all requirements of Chapter 112 of Title IX of the Code of the City of Ann Arbor and in particular the following excerpts therefrom:

#### 9:161 NONDISCRIMINATION BY CITY CONTRACTORS

- (1) All contractors proposing to do business with the City of Ann Arbor shall satisfy the nondiscrimination administrative policy adopted by the City Administrator in accordance with the guidelines of this section. All contractors shall receive approval from the Director prior to entering into a contract with the City, unless specifically exempted by administrative policy. All City contractors shall take affirmative action to insure that applicants are employed and that employees are treated during employment in a manner which provides equal employment opportunity and tends to eliminate inequality based upon race, national origin or sex.
- (2) Each prospective contractor shall submit to the City data showing current total employment by occupational category, sex and minority group. If, after verifying this data, the Director concludes that it indicates total minority and female employment commensurate with their availability within the contractor's labor recruitment area, i.e., the area from which the contractor can reasonably be expected to recruit, said contractor shall be accepted by the Director as having fulfilled affirmative action requirements for a period of one year at which time the Director shall conduct another review. Other contractors shall develop an affirmative action program in conjunction with the Director. Said program shall include specific goals and timetables for the hiring and promotion of minorities and females. Said goals shall reflect the availability of minorities and females within the contractor's labor recruitment area. In the case of construction contractors, the Director shall use for employment verification the labor recruitment area of the Ann Arbor-Ypsilanti standard metropolitan statistical area. Construction contractors determined to be in compliance shall be accepted by the Director as having fulfilled affirmative action requirements for a period of six (6) months at which time the Director shall conduct another review.
- (3) In hiring for construction projects, contractors shall make good faith efforts to employ local persons, so as to enhance the local economy.
- (4) All contracts shall include provisions through which the contractor agrees, in addition to any other applicable Federal or State labor laws:
  - (a) To set goals, in conference with the Human Resources Director, for each job category or division of the work force used in the completion of the City work;
  - (b) To provide periodic reports concerning the progress the contractor has made in meeting the affirmative action goals it has agreed to;

- (c) To permit the Director access to all books, records and accounts pertaining to its employment practices for the purpose of determining compliance with the affirmative action requirements.
- (5) The Director shall monitor the compliance of each contractor with the nondiscrimination provisions of each contract. The Director shall develop procedures and regulations consistent with the administrative policy adopted by the City Administrator for notice and enforcement of non-compliance. Such procedures and regulations shall include a provision for the posting of contractors not in compliance.
- (6) All City contracts shall provide further that breach of the obligation not to discriminate shall be a material breach of the contract for which the City shall be entitled, at its option, to do any or all of the following:
  - (a) To cancel, terminate, or suspend the contract in whole or part and/or refuse to make any required periodic payments under the contract;
  - (b) Declare the contractor ineligible for the award of any future contracts with the City for a specified length of time;
  - (c) To recover liquidated damages of a specified sum, said sum to be that percentage of the labor expenditure for the time period involved which would have accrued to minority group members had the affirmative action not been breached:
  - (d) Impose for each day of non-compliance, liquidated damages of a specified sum, based upon the following schedule:

	Assessed Damages Per Day of
Contract Amount	Non-Compliance
\$ 10,000 - 24,999	\$ 25.00
25,000 - 99,999	50.00
100,000 - 199,999	100.00
200,000 - 499,999	150.00
500,000 - 1,499,999	200.00
1,500,000 - 2,999,999	250.00
3,000,000 - 4,999,999	300.00
5,000,000 - and above	500.00

(e) In addition the contractor shall be liable for any costs or expenses incurred by the City of Ann Arbor in obtaining from other sources the work and services to be rendered or performed or the goods or properties to be furnished or delivered to the City under this contract.

## EXHIBIT B LIVING WAGE ORDINANCE EXCERPTS

The Consultant, its agents or sub-contractors, shall comply with all requirements of Chapter 23 of Title I of the Code of the City of Ann Arbor and in particular the following excerpts therefrom:

#### 1:813. Definitions.

For purposes of this Chapter, the following definitions shall apply:

- (1) □Contractor/vendor" is a person or entity that has a contract with the City primarily for the furnishing of services where the total amount of the contract or contracts with the City exceeds \$10,000 for any 12-month period. "Contractor/vendor" does not include a person or entity that has a contract with the City primarily for the purchase of goods or property, or for the lease of goods or property to or from the City.
- "Covered Employee" means a person employed by a covered employer to perform services which are covered or funded by the contract with or grant from the City; provided, however, that persons who are employed pursuant to federal, state or local laws relating to prevailing wages shall be exempt from this Chapter.
- "Covered Employer" means a contractor/vendor or grantee that has not been granted an exemption from this Chapter pursuant to Section 1:817.
- (4) "Employee" means an individual who provides personal services performed for wages under any contract calling for the performance of personal services, whether written or oral, express or implied. The term "employee" does not include any individual who volunteers to perform services for an employer if
  - (a) The individual receives no compensation or is paid expenses, reasonable benefits, or a nominal fee to perform the services for which the individual volunteered; and
  - (b) Such services are not the same type of services which the individual is employed to perform for such employer.
- (5) "Employee Health Benefits" or "Health Benefits" means providing health care benefits for employees (or employees and their dependents) at employer cost or making an employer contribution toward the purchase of such health care benefits for employees (or employees and their dependents), provided that the employer cost or contribution equals no less than \$1 an hour for the average work week of such employee, and provided further that any employee payment or contribution toward health care shall not exceed 50 cents an hour for the average work week for such employee.
- (6) "Grant" means any form of financial assistance to a "Grantee" as set forth and defined in Section 1:813(7). "Grant" does not include financial assistance used for the

purchase or lease of property or other non-personnel costs.

- (7) "Grantee" is a person or entity that is a recipient of any financial assistance from the City in the form of any federal, state or local grant program administered by the City, revenue bond financing, tax increment financing, tax abatement, tax credit, direct grant, or any other form of financial assistance that exceeds \$10,000 for any 12-month period, including any contractors, subcontractors, or leaseholders of the grantee whose contract, subcontract or lease with the grantee exceeds \$10,000 for any 12-month period.
- (8) "Living Wage" means a wage equal to the levels established in Section 1:815.
- (9) "Person" means any individual, copartnership, corporation, association, club, joint adventure, estate, trust, and any other group or combination acting as a unit, and the individuals constituting such group or unit.
- (10) "\$10,000 for any 12 month period" is computed by taking the total amount of the contract, grant or loan and dividing it by the number of months the contract, grant or loan covers.

## 1:814. Applicability.

- (1) This Chapter shall apply to any person that is a contractor/vendor or grantee as defined in Section 1:813 that employs or contracts with five (5) or more individuals; provided, however, that this Chapter shall not apply to a non-profit contractor/vendor or non-profit grantee unless it employs or contracts with ten (10) or more individuals.
- (2) This Chapter shall apply to any grant, contract, or subcontract or other form of financial assistance awarded to or entered into with a contractor/vendor or grantee after the effective date of this Chapter and to the extension or renewal after the effective date of this Chapter of any grant, contract, or subcontract or other form of financial assistance with a contractor/vendor or grantee.

#### 1:815. Living Wages Required.

- (1) Every contractor/vendor or grantee, as defined in Section 1:813, shall pay its covered employees a living wage as established in this Section.
  - (a) For a covered employer that provides employee health care to its employees, the living wage shall be \$8.70 an hour, or the adjusted amount hereafter established under Section 1:815(3).
  - (b) For a covered employer that does not provide health care to its employees, the living wage shall be \$10.20 a hour, or the adjusted amount hereafter established under Section 1:815(3).
- (2) In order to qualify to pay the living wage rate for covered employers providing employee health care under subsection 1:815(1)(a), a covered employer shall furnish

- proof of said health care coverage and payment therefor to the City Administrator or his/her designee.
- (3) The amount of the living wage established in this Section shall be adjusted upward no later than April 30, 2002, and every year thereafter by a percentage equal to the percentage increase, if any, in the federal poverty guidelines as published by the United States Department of Health and Human Services for the years 2001 and 2002. Subsequent annual adjustments shall be based upon the percentage increase, if any, in the United States Department of Health and Human Services poverty guidelines when comparing the prior calendar year's poverty guidelines to the present calendar year's guidelines. The applicable percentage amount will be converted to an amount in cents by multiplying the existing wage under Section 1.815(1)(b) by said percentage, rounding upward to the next cent, and adding this amount of cents to the existing living wage levels established under Sections 1:815(1)(a) and 1:815(1)(b). Prior to April 1 of each calendar year, the City will notify any covered employer of this adjustment by posting a written notice in a prominent place in City Hall, and, in the case of a covered employer that has provided an address of record to the City, by written letter covered employer. to each such a

# EXHIBIT C

Fall 2012 Planting							
Common Name	Latin Name	# B&B Available	B&B Price per Tree Planted	Margolis Nursery Total Price			
Trident Maple (small)	Acer buergeranum	25	\$200.00	\$5,000.00			
Paperbark Maple (small)	Acer griseum	20	\$280.00	\$5,600.00			
Miyabei Maple (medium)	Acer miyabei	30	\$250.00	\$7,500.00			
Striped Maple (small)	Acer pensylvanicum	25 \$320.00		\$8,000.00			
Sycamore Maple (large)	Acer pseudoplatanus	25	\$320.00	\$8,000.00			
Tatarian Maple (small)	Acer tataricum	20	\$200.00	\$4,000.00			
Speckled Alder (small)	Alnus incana	25	\$270.00	\$6,750.00			
Serviceberry (small)	Amelanchier sp. 'Autumn Brilliance'	35	\$160.00	\$5,600.00			
Ginkgo- male only (large)	Ginkgo biloba	20	\$280.00	\$5,600.00			
Kentucky Coffeetree (large)	ntucky Coffeetree (large) Gymnocladus dioicus		\$250.00	\$5,000.00			
Goldenchain Tree (medium);	Laburnum anagyroides						
Tuliptree (large)	Liriodendron tulipifera	10 \$180.00		\$1,800.00			
Amur Maackia (small)	Maackia amurensis						
Dawn Redwood (large)	Metasequoia glyptostroboides	20	\$180.00	\$3,600.00			
Hophornbeam (medium)	Ostrya virginiana	40	\$280.00	\$11,200.00			
Persian Parrotia (medium)	Parrotia persica						
Bald Cypress (large)	Taxodium distichum	25 \$200.00		\$5,000.00			
Accolade Elm Ulmus x 'Accola		25	\$235.00	\$5,875.00			
American Elm	Ulmus americana	50	\$235.00	\$11,750.00			
American Elm	Ulmus americana 'Princeton'	50 \$235.00		\$11,750.00			
American Elm	Ulmus american 'Valley Forge'	35	\$235.00	\$8,225.00			
	TOTALS	500		\$120,250.00			
	Total Trees Planted	MARGOLIS NURSERY 500		\$120,250.00			
	Watering per tree	80	500 trees	\$ 40,000.00			
	TOTAL FALL 2012*	500		\$160,250.00			

<sup>\*</sup>Tree Species substitutions may be permitted with City Staff approval. Substitution request must be made and approved prior to the substituted tree species being planting. Substitutions shall not cause the contract to exceed the "not to exceed" amount of \$295,925.00.

Common Name	mmon Name  Latin Name  # Bare Root Price per Tree Available - Planted				# B&B Available	B&B Price per Tree Planted		Margolis Nursery Total			
Trident Maple (small)	Acer buergeranum						15	\$	200.00	\$	3,000.00
Paperbark Maple (small)	Acer griseum						10	\$	280.00	\$	2,800.00
Miyabei Maple (medium)	Acer miyabei						10	\$	250.00	\$	2,500.00
Serviceberry (small)	Amelanchier sp. 'Autumn Brilliance'	25	\$	160.00	\$	4,000.00					
River Birch (medium)	Betula nigra	30	\$	160.00	\$	4,800.00					
Amer. Hornbeam (medium)	Carpinus caroliniana						45	\$	140.00	\$	6,300.00
Hackberry (large)	Celtis occidentalis	25	\$	160.00	\$	4,000.00					
Redbud (small)	Cercis canadensis						30	\$	140.00	\$	4,200.00
Fringetree (small)	Chionanthus spp.						20	\$	175.00	\$	3,500.00
Yellowwood (medium)	Cladrastis lutea						25	\$	240.00	\$	6,000.00
Filbert (med/large)	Corylus spp.						25	\$	215.00	\$	5,375.00
Goldenchain (Medium)	Laburnum anagyroides						20	\$	250.00	\$	5,000.00
Sweetgum (large)	Liquidambar styraciflua	10	\$	160.00	\$	1,600.00					
Tuliptree (large)	Liriodendron tulipifera	25	\$	160.00	\$	4,000.00					
Amur Maackia (small)	Maackia amurensis						10	\$	315.00	\$	3,150.00
Hophornbeam (medium)	Ostrya virginiana						25	\$	280.00	\$	7,000.00
Persian Parrotia (medium)	Parrotia persica						25	\$	190.00	\$	4,750.00
London Planetree (large)	Platanus x acerifolia	25	\$	160.00	\$	4,000.00					
Ornamental Cherry (small)	Prunus spp						20	\$	170.00	\$	3,400.00
Swamp White Oak (large)	Quercus bicolor	15	\$	160.00	\$	2,400.00					
English Oak (medium)	Quercus robur				\$	-	25	\$	280.00	\$	7,000.00
Burr Oak (large)	Quercus macrocarpa	10	\$	160.00	\$	1,600.00					
Northern Red Oak (large)	Quercus rubra	10	\$	160.00	\$	1,600.00					
Japanese Tree Lilac (small)	Syringa reticulate				\$	-	20	\$	185.00	\$	3,700.00
	Total Trees Planted	175	D,	are Root	•	28,000.00					
	Total Trees Planted	325	В	B&B		67,675.00		$\vdash$			
	= =				•	•		<u> </u>			
	Watering Per Tree	\$80/tree	500 Trees			40,000.00		├──			
	Total SPRING 2013*:	500			\$ 1	35,675.00		<u> </u>			

<sup>\*</sup>Tree Species substitutions may be permitted with City Staff approval. Substitution request must be made and approved prior to the substituted tree species being planting. Substitutions shall not cause the contract to exceed the "not to exceed" amount of \$295,925.00.